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t, IFy YARIES DIRLCTLY AS 5, FIND.THE

»

AN  Vovio hen

{1) effect on y if = is trebled;

{1i) ‘value of y when = =

10 given that y = 6 uhen = = 2,

2.

{11

IT 15 KHGWN THAT y IS PROPORTIGKAL TO THE SQUARE OF . Find

(i) by shat factor y is mltiplied if = 1s doubled;
_:) the value of y when ..-:_ =10, {Fy = 18 when 2 = 3.

3.

GIVEN THAT y VARIES AS THE CUBE OF £, AHD THAT y = 32 WHEH & = 2, :
deternine the value of (1} y when =z =5 (11} = when y = 108.

By what fastor is y midtiplied if © {s rultiplied by 1/87

A

IF y VARIES THVERSELY AS x, FEND THE
{1} factor by which y 1s multiglied 1f = 1s doubled;
{H) value of y when = = 6§, given that ¥y = 3when 2 = 4,

5.

GIYEH THAT y YARIES I}NERSEL'I’ AS THE SQUARE OF z, and y = 3 whea
o= 1, find the value of (j) y when = = -4 (i1} = vhen y = 4/21.
If x 18 kaiUed, by what fastor iz ¥ multipliﬂd?.

IF » VARIES DIRECTLY AS z AND IHVERSELY AS y, and z = 7/2 vhen ¥ =‘4,
r=7 prove that the variatien constant k = 2, and hence find the

value of = when y = 8, z = 4.
What affeat ia there on x if # ie doubled and y is hatvad?

7 B §
THE QUANTITY a 1S PROPORTIONAL TO b AND INVERSELY PROPORTIONAL TO

e, By what factor is a multiplied if b is-trebled and c is

doybled?- .
Ifa=8vhen b =4, o = deterwing the valus of e when b = 3, 0 =

3

<

*

9, The disdance & metres covered by @ body falbing faes hesl varies as

Qls

Far a body fabling grom fest faem the top of a fower, he veloeity
v mfy vandes ay fhe time fatlen, € see.
(1) WHAT TS THE EFFECT on the velocity 1f the tine of fnll is

daubled? Lusk.
(41} 1IF THE YELOCITY OF THE BODY 15 20 mfs AFTER 2 sec, find the |
’ valocity after 4 secs znd hence deterrmna the increase in the

velacity during the fifth second {i.e. between t =14, £ = 53’.“!;“!

1
10

the squase of he Lime of fatl, £ sec. e (
(1) IGNORING AIR RESISTANCE, FING THE RATIG OF THE DISTAHCES
FALLEf BY THO PARACHUTISTS A, B in fres fall (i.e. with-

parachutes usopened) 1f their times of fall are in the ratio
‘ 4
3:1. | ;

~ (i1} . IF AFALLS 45 m IH 3 sec, DETERMINE THE DISTAKCE FALLEN IH ]
4 sec; and henge determine how far A falls in the fourth
second (f.e. in the time interval t = 3,7t = 4], ia .

10, Tn a centain efectnic circuid, the efectrie curnent £ fanps] vanies
Liventely as tie &ua&mce R fohms).
(1) 'HHJ\T CHANGE TN 1 results from doubling R?”

LEND) - oA e = w4 masbe

t1i. The a[\ w? of dn ellipse vanles as the product
0f the Le.glhs a en, b o of the semi-ares,
[i) HHAT CHAHGE RESULTS in A if a 15 doubled and
b {s halved? )
(1) WHEH a =4, b = 1.5, A = §s find the area
{in terss of r) of an ellipse vhose seni-axes are 5 cn, 4 cn
respectively.

112, For a sphene the velume U vanies as the cube of the radlius n whitst
the sunface arend vonles as the square of dhe aadius,
(j_) 1 BLOW UP A SPHERICAL BALLOON UNTIL. THE RADIUS 15 DOUBLED.
"What effect daes this have on the amaunt of air in the ballcon
and the surface area of rudber in the balloon?
(_f_l} THAREE LEADEN SPHERES A, 8, C HAVE RADIL IN THE RATID 1:2:3.,
(a) What i the ratio of thelr sunfocs aveas? If the cost of
painting sphere A is $25, what would be the cosk {at the
. same rate} of painting spheres 8, c7
(b) Hhat ia 2he ratio of thefr witmes? If the weight of
sphere A is 25 kg, determine the velght of spheres 8, €.

0

113, The enengy E needed fox @ body of rass w 2o cu:tcu‘ﬁ a veloeddy v 43
proportional {6 Zhe produet of the rass and the square of the
veloeity.

IF THE YELOCITY REQUIRED FOR A SATELLITE TO ESCAPE THE MI0M*S
GRAVITATIORAL PUU_ 15 0,2 TINES THAT NEEDED O ESCAPE THE FARTH'S

ATHGSPHERE, how wsch energy re1at'lva]y 15 needed to escape from tha
moon than froa earth, assenfng the rass of the satellite escaping '
fron the moon is .

(1) the seme as (11} one quarter of, that sent from earth.

+14 Fon 4tones o; the dame quaklty, “the value (V] of a dmmndu
propoailanal to the square of L weight fu carats,
FIkD T}_iE LOSS INCURRED BY CUTTING-A DIAMOND WORTH $450 INTO THO
PARTS Whose welghts are In the vatfo 1:2, (ftnt: Lot the oviginat
dHowond veight 3 carabs.} | '
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